R3.6.1 Bl SramEEAnR S sl R
JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 el Aol sl Al el s Al dsdl AEH (5 | (&5)
¥l 47,701 109,991 53,604] 56,387 -14] -104] -32 50 g2l  -72] 317 389 0 145 145
HI—TH 710 1,510 745 765 1 2 -1 2 3 1 8 7 2 2 0
FLl T H 552|l 1,305 655 650 1 1 0 0 0 -1 3 4 2 2 0
LI =TH 447\ 1,032 506 526 —4 -7 -2 0 2 —7 2 9 2 2 0
SLLAEH 1, 7090 3,847]  1,906| 1,941 =2 —4 -3 2 5 -7 13 20 6 6 0
Sk —TH 471 948 445 503 0 -1 0 0 0 4 6 2 -5 0 5
. = 733 1,763 859 904 7 0 -3 0 3 4 10 6 -1 0 1
SR —TH 536( 1,300 619 681 -3 0 1 2 1 -3 4 7 2 3 1
S AT H 399 909 443 466 -2 -6 -1 0 1 0 0 0 -5 0 5
o h ] B 610 1,335 641 694 —4 —6 -1 0 1 —4 2 6 -1 0 1
BN T B 220 481 233 248 -2 -5 -2 0 2 -3 0 3 0 1 1
ARt TH 645 1,711 830 881 0 -3 -1 0 1 -5 1 6 3 3 0
oA\ T H 398 881 420 461 -2 -3 1 1 0 —4 1 5 0 0 0
IV B 606| 1,434 716 718 5 1 1 2 1 -5 7 12 5 5 0
B onaatl 4,618 10,762 5,206 5,556 -1 -23 -5 5 100 -16 31 47 -2 12 14
e n—1H 337 804 400 404 1 1 -1 0 1 1 3 2 1 2 1
6 - | 978l 2,085| 1,037| 1,048 -6 -8 -3 0 3 -2 3 5 -3 5 8
HHk o —TH 685[ 1,452 712 740 0 -1 2 2 0 -3 5 8 0 0 0
W A EL 2,0000 4,341 2,149] 2,192 -5 -8 -2 2 4 —4 11 15 -2 7 9
Mt A — T H 5271 1,217 599 618 1 —4 -3 0 3 -1 5 6 0 0 0
ek R _TH 351 915 476 439 1 0 -1 0 1 5 6 1 —4 0 4
Mk R =TH 242 515 265 250 0 0 0 0 0 0 0 0 0 0 0
ik L G| 532l 1,270 644 626 0 —4 -1 0 1 -3 1 4 0 0 0
msEr aaEtl 1,652 3,917 1,984 1,933 2 -8 -5 0 5 1 12 11 —4 0 4
JCE g 363 864 411 453 0 -3 0 0 0 -3 2 5 0 0 0
HOEEN— T H 199 419 204 215 -2 -7 -1 0 1 -6 0 6 0 0 0
HOEE T H 425 972 466 506 1 -3 -1 0 1 1 4 3 -3 0 3
HoEEI =T H 682 1,739 851 888 -1 -7 -1 1 2 -6 0 6 0 0 0
HOEEAN T H 769 1,925 938 987 5 17 2 2 0 6 8 2 9 9 0
HOERS T H 428 1,025 523 502 -3 -6 -1 1 2 -3 1 4 -2 0 2
HOEEIS T H 394 912 449 463 0 0 0 0 0 0 1 1 0 0 0
HoEEOETH 674 1,463 713 750 1 0 0 0 0 4 4 1 1 0
HOEEHOSE 3,571 8,455 4, 144| 4,311 -5 -2 4 6 -8 18 26 5 10 5
PEEE 1,511 2,867[ 1,360 1,507 -2 -6 1 1 0 1 7 6 -8 0 8
FHIAR 319 683 350 333 2 3 0 0 0 2 2 0 1 1 0
EE g —T 538 1,092 517 575 -3 -5 -3 0 3 2 5 3 —4 2 6
EE g — T 253 514 258 256 0 2 1 1 0 1 1 0 0 1 1
R =T H 527 1,177 584 593 2 1 0 1 1 5 9 4 —4 2 6
EESN R T H 623 1,302 622 680 5 6 0 1 1 -2 8 10 8 8 0
EEP g R T H 237 546 272 274 1 0 0 0 0 0 1 1 0 0 0
EER LA 2 178 4,631 2,253 2,378 5 4 -2 3 5 6 24 18 0 13 13
B RHT— T H 666[ 1,392 662 730 -2 -2 1 2 1 -2 9 -1 0 1
EEIARRT T H 660/ 1,319 621 698 3 7 1 2 1 6 1 0 0 0
EEOOARRT AR 1,326 2,711 1,283 1,428 2 4 2 4 14 10 -1 0 1
RPN 282 793 430 363 -5 -7 -3 0 3 -3 3 -1 0 1
WHR—TH 714 1,676 833 843 3 5 0 0 0 6 2 -1 0 1
PR T H| 1,695 3,936 1,886] 2,050 -5 -13 0 3 3| -10 13 23 -3 7 10
WHR=TH 842 2,179] 1,059 1,120 4 9 3 3 0 0 3 6 9
HHRIT H 4941 1,191 568 623 1 0 1 1 0 2 1 -3 0
HPREEH 3, 745]  8,982| 4,346| 4,636 3 1 4 7 3 -2 27 29 -1 16 17
HiR—TH 673 1,561 757 804 -1 —4 1 1 0 —4 10 -1 0 1
IHR_"TH 926 2,256] 1,122| 1,134 -1 -9 0 2 2 —4 9 -5 0 5
PR =TH 488 1,059 542 517 3 14 0 3 3 11 17 6 3 5 2
bR &EH 2,087l 4,876] 2,421 2,455 1 1 6 5 3 28 25 -3 5 8
T IROBTHT 318 809 389 420 -1 -1 0 1 1 -1 0 1 0 0 0
el 1,596 5,158 2,318 2,840 -1 -3 -7 0 7 —4 4 8 12 4
FRE— T H 739] 1,768 861 907 -2 0 0 1 1 0 4 4 0 0




R3.6.1 Bl SramEEAnR S sl R
JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i s A AR AR SET) ] A EREH &EH (H) | (&)
FYlE 1T H 732 1,804 902 902 0l -10 -1 0 1 1 5 4 =10 0 10
MoE =1 H 650| 1,557 776 781 1 -1 -1 0 1 -2 1 3 2 2 0
A EN T H 943l  2,252| 1,084 1,168 1 9 -1 0 1 -3 2 5 13 13 0
RCENNE 625 1,453 711 742 2 2 0 0 0 1 6 5 1 1 0
MAEST H 418 1,007 475 532 -2 -5 0 0 0 -5 0 5 0 0 0
mAlEaEE 4,107]  9,841| 4,809| 5,032 0 -5 -3 1 4 -8 18 26 6 16 10
VEPIe S 546 1,127 561 566 -1 —4 -1 0 1 1 3 2 —4 0
e —TH 310 681 321 360 0 -1 0 0 0 -3 0 3 2 2
i — T H 583l 1,343 642 701 —4 -2 -1 0 1 -3 3 6 2 2
A gl 893 2,024 963| 1,061 —4 -3 -1 0 1 -6 3 9 4 4
Eh— 1 H 308 692 346 346 0 -3 0 1 1 4 4 0 -7 3 10
B — T H 627l 1,373 657 716 —4 -2 0 0 0 0 5 5 -2 0 2
=T H 392 1,044 523 521 2 5 -1 0 1 1 2 1 5 6 1
EAEr| 1,327 3,109 1,526] 1,583 -2 0 -1 1 2 5 11 6 —4 9 13
e —TH 387 974 455 519 2 2 0 0 0 0 1 1 2 3 1
WHE T H 443 1,106 556 550 0 -1 2 2 0 -2 2 4 -1 1 2
HHE T H 762l 1,891 966 925 -1 -6 -1 0 1 —6 0 6 1 1 0
W& T B 458 1,061 519 542 9 9 0 1 1 9 9 0 0 1 1
B E ] H 794/ 1,750 861 889 0 -5 -3 0 3 -2 5 7 0 0 0
HHIENT H 237 508 254 254 -3 -2 -1 0 1 -2 1 3 1 1 0
HESEr 3,081 7,290 3,611 3,679 7 -3 -3 3 6 -3 18 21 3 7 4
<HWE—TH 594 1,392 682 710 4 3 -2 0 2 3 3 0 2 2 0
<HEIL—TH 703 1,492 727 765 0 4 1 2 1 2 3 1 1 2 1
SHBEIL=TH 522 1,148 569 579 -1 -2 0 0 0 —6 3 9 4 5 1
<HEWLPTH 561 1,184 600 584 —4 ~7 0 0 0 -5 3 8 -2 0 2
<O T H 322 707 378 329 —4 -9 -1 0 1 -9 2 11 1 2 1
<WEEEH 2,702 5,923 2,956 2,967 -5 -11 -2 2 4l -15 14 29 6 11 5
WIE AR —TH 781 1,694 856 838 0 -1 0 0 0 -1 2 3 0 1 1
WIEAR T H 468| 1,126 579 547 -1 -2 -1 0 1 1 6 5 -2 0 2
WIEARTAE 1,2490 2,820 1,435 1,385 -1 -3 -1 0 1 0 8 -2 1 3
s 404 791 375 416 -4 =10 0 0 0 -5 6 -5 0 5
ek —TH[ 1,074 1,717 759 958 4 4 2 2 0 3 12 9 -1 2 3
e T H 416 719 347 372 -3 —/ 0 0 0 —4 1 5 0 0 0
kR =T H 627l 1,690 794 896 -2 —4 2 2 0 -5 3 8 -1 3 4
sk BRI H 397 835 411 424 -1 —4 0 0 0 -1 9 10 -3 0 3
o aaEtl 2,514 4,961 2,311 2,650 -2 -8 4 4 0 ~7 25 32 -5 5 10
FRIREET 21 52 26 26 0 -1 0 0 0 -1 0 1 0 0 0
B 740( 1,747 846 901 5 11 -1 0 1 3 7 4 9 9 0
VEEE 280 670 308 362 1 -3 0 1 1 0 1 1 -3 1 4
e — T H 448 1,132 566 566 -1 0 1 1 0 -1 1 2 0 0 0
e T H 390 917 441 476 -1 -2 -1 0 1 -1 3 4 0 0 0
oo B R 838 2,049| 1,007| 1,042 -2 -2 0 1 1 -2 4 6 0 0 0
P — T H 685[ 1,402 695 707 -3 —7 0 1 1 -5 4 9 -2 0 2
P T H 518 1,291 609 682 0 4 -1 0 1 5 6 1 0 0 0
TeEEm A Er 1,203 2,693 1,304| 1,389 -3 -3 -1 1 2 0 10 10 -2 0 2
P e 296 668 334 334 0 0 0 0 0 1 1 0 -1 0 1
BEHIR 225 530 282 248 -3 -5 -1 1 2 —4 0 0 0 0




